51

55,
9 Kahleberg— 13 Udohihe—I5 Fichtelberg.
9 Kahleberg = 52" 44' 27'6062z — o'obr5 — (g95) 4 (98)
15 Udohihe = 86 131 o.0658 + 522 — (183) 4 (189)
15 Fichtelberg = 40 44 38.6027 + 247 — (209) 4+ (213)
Summe = 180 o 6.3644 + o0.0154
180" + & = & T M L S L

4+ 0.6523 + ©.0154

o = -+ 0'6677 — (95) + (98) — (183) + (189) — (z09) + (213).
1.
9 Kahleberg—I4 Bernstein—I15 Fichtelberg.
9 Kahleberg : 13 47 44-4403 4 0.0077 — (94) + (95)
14 Bernstein 156 134 50.1384 + 7 — (19%7) + (195)
15 Fichtelberg = 9 37 27.1835 — 63 — (213) 4+ (214)
Simme = 180 o 1.7622 4 0.0021
180" 4+ & = I530 o 1.100Q
-+ 0.6613 -+ ©.0021
g + 0.6634 — (94) + (95) 4+ (195) — (197) — (213) + (z214).
60.
10 Keulenberg—Il Strauch—29 Buchberg.
10 Keulenberg = 28 20 20.6220 — 0.0062 — (124) 4+ (128)
.ll Strauch = g 25 O.5¢31 57 — (138) + (140)
29 Buchberg = 142 I4 37.-2217 + 56 — (346) + (349)
Summe = 179 §9 §8.3068 4 0.0051
180" - & — 180 o 0.3247
— 1.9279 - 0.00§51
0 = — 1:9228 — (124) + (128) — (138) + (140) — (346) + (349)
. : .
6l.
|0 Keulenherg—Il Strauch—30 Grossdobritz.
10 El!]l]ﬂl]h'&l'g : 37 34 26.2147 — o0.00g93 — (123} ~+ (128)
i | :'.':iT-]'ﬁlll.'Jlil = 58 132 2B8.8555 -+ 166 — (138) 4+ (143)
BU Grossdobritz 83 53 5.7897 + 20 — (361) + (3638)
Summe = 180 o ©0.8579 4+ 0.0093
1o 4+ g = 150 © 1.338G
— 0.4810 4 0.0003
0 = — 04717 — (123) 4 (128B) — (138) 4 (143) — (961) + (365)
4]




